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Fourth Semester B.Com. Degree Examination, September 2020 
COMMERCE 

Paper 4.4 : Cost Accounting 
(CBCS) (Fresh+ Repeaters) (2015 - 16  &  Onwards) 

Time : 3 Hours Max. Marks : 70 

Instruction : Answers should be written either in English or in Kannada. 

SECTION -- A/2&pr­ 

1 .  Answer any five sub-questions, each question carries two marks. 

013cad ab ud- z,zrir? e303, 5,2 3,ri 2cs eorts. 

a) Define Costing . 

ad03, car ob d30 2.5, pea. 
2± 2 2 

b) What is Tender? 

ea 0ab ? 

c) What do you mean by bincard? 

Pb2F oded ? 

d) What is Machine Hour Rate? 

ob03, go±30 0 20 ? 

e) Name any four techniques of Inventory Control . 

3 053,car 0d23»do se., c3risb, a55'0». 

f) What is Memorandum Reconciliation Account ? 

02,0ad° a0002& 35 000&b ? 

g) Define Labour turnover. 

v28 ea+ d0b 52,a5, 2e@. 

(5x2=10) 

P.T.O. 
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SECTION -- B/22pert- 22 

Answer any three questions, each carries six marks. 

as)cc'de st.scb z,pier' ego, 5,2 3dri6 eori. 

2. Briefly explain the objectives of Cost Accounting. 

5323}, &,22#g} eve8rb 63oh 202. 
2 O cho 

(3x6=18) 

3. From the following information, calculate, EOQ and calculate number of orders 

to be placed in a year. 

a) Quarterly consumption of materials, 2000 units 

b) Cost of placing one order Rs. 50 

c) Cost per unit Rs. 40 

d) Storage and carrying cost 8% of inventory. 

3 d&3cog a3 e0des 73dd a2rt 

av brose oz»c'db orb@c"0. 

a) ,ad38 2s# #, 2000 0b2&3re? 

b) ocd ecde al3ad zp2ori' 2F d. 50 

c) zd,3 u»so de3gd a2a±r de. 40 

d) 052sd arl 5rd2 d23, 8% 52bnob be 

4. Calculate Total Factory Cost and Factory Cost per unit from the following 
information: 

Number of units of raw materials consumed 

Cost of material consumed 

Direct wages 

Direct expenses 

Factory O/Hs 

Opening stock of work-in-progress (2000 units) 

Closing stock of work-in-progress (3000 units) 

Rs. 

10000 units 

1,00,000 

50,000 

30,000 

1,20,000 

60,000 

? 
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2&3 ,7oO»2 2d3 ads ad3 0b2&d 7Ob2 db ' ad&300U} 
e O  2i  -o  -  e  2t  

€%, ad»a. 

u2, asb2r's? 2.sad' ob2g37' 3lo3, 10000 02bu3r's? 
2± -o 2 

as020 2 a#br ad3. 1,00,000 
2± -o 2d 

3e ada0 

3e ad3 
2± 

37po» 552c73,ni 
3d,rd30200d5' 520d,ad e0do2;8 025sb (2000 a2purr'b) 

z3,rd3105 20dad e035d 0»»sb (3000 ob2eris) 

50,000 

30,000 

1,20,000 

60,000 

? 

5. Standard time allowed for a job is 1 5  hours, at the rate of 50 per hour, 
actual time saved by worker is 3 hours. Calculate his earnings under Halsey 
System and Rowan System. 

e.orb eurdg crti, z3 ruK? 5005 15  ruin? 2ad, db1ab, 2rdos'rkepczs. z-.:-,, 

es7o0, 3 7lo&3r Baobab asn es30b, w ab des° ad€ob 
< O N D 

zd,2 ea' ox2, €, a8. 

6. From the following information compute a Machine Hour Rate of Machine No. 20 
for the month of July. 

Cost of machine ? 32,000 
Estimated scrap value ? 2,000 
Effective working life 10000 hours 

Repairs for life of machine ? 2,500 
Standing charges for the month of July ? 400 

Power consumed by machine @ ? 0.30 pu. 600 
The machine consumes 10  units of power per hour. 

a 6n3 d&30op op03 o' 200 ob03 rlou cb,<, 3orts or&op0. 
0503, 2.+,ate, 32,000 

ab se 23&? 2,000 

0103,c 23e3230 # 10000 7ou3rs 

ab03,ad a3e22325001 0d03 2,500 

v¢, 3on1 ,0° 2er 7lb ? 400 

ob03,d 5ch,3" 2s8 0.30 z3 ab@purf 2422,R 600 

0203,2 7o&5r' 1 0  0b2/&3° 2Cd2,23 02&b, 2s2Cd3c3. 
-' 2 e el -o 
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SECTION --C/2pen­ 

(3x14=42) Answer any three questions. Each answer carries 1 4  marks. 

12s3cc'd .er z,zneri eu30, 3j,2 9ugcd, 14  eon'. 

7. PNK Engineering Company manufactured and sold 1000 machines in 2018. 
Following are the particulars obtained : 

Cost of Materials 80,000 Rent & Rates 10,000 
Wages paid 
Factory expenes 
Salaries 

1,20,000 
50,000 
60,000 

Selling expenses 30,000 
General expenses 20,000 
Sales 4,00,000 

The company plans to manufacture 1200 machines in 2019. You are required to 
submit a statement showing the price to earn a profit of 10% on selling price. The 
following additional information is given to you. 

\  

c) Factory expenses will rise in proportion to the combined cost of materials and 

a) Price of material will rise by 20% on previous year's price. 
b) Wage will rise by 5%. 

wages. 
d) Selling expenses per unit will remain unchanged. 
e) Other expenses will remain unaffected by rise in the output. 

PNK oz:po0I Bo,02 2018 ,1000 02037lb, 3ad0» ado2u3 ad@s, 

eU' ad&3 & sno3U3. 

525521nis 553e3, 
ea2ad 

var do bes.d, 
33r's 

80,000 

1,20,000 

50,000 

60,000 

@r' b 0 10,000 
...I)  

ad0er pt's 30,000 

5d&}, a2brr'eb 20,000 

dove3 4,00,000 

oz202 2019 09 1200 0b37id a0#' a23zbs. doe3 cob de 
co - et e) -D 

5e6 10005 &22ddx eds se30 30103. a2,' ad&305b 5 & 
e} e 2 e 

2cont. 

a) 52d7n's ci&ob &003 r ±,c3 20% 20ob3cd. 
b) r'sb 5es 5 cb,00170b3d. 

- e 

c) b23Fa d3, »bn aorlo rd z.&3, 20&pr' 3,0 001r'3. 
vi '' e d -? 

d) doe3 5 3d,3 0bur' 6' ads a? 7ad3. 
2± ? e} -o 

e) eu3,3} 03wad, as a2urn c&3 3 2&'2as° 
cl 2 ed  o co 
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8. GB Ltd. uses copper wire as a raw material which is purchased from the 

market. The following particulars are available in respect of the transactions 

for January 2019.  

Jan. 1 

Jan. 3 

Jan .4  

Jan. 1 0  

Jan .20 

Jan .25  

Jan .27  

Opening balance 300 kg. at < 25 per kg. 

Purchased 500 kg. at ? 26 per kg. 

Issued 220 kg. 

Issued 440 kg. 

Purchased 490 kg. at ? 23 per kg. 

Issued 300 kg. 

Surplus 20 kg. returned to store out of quantity Issued on Jan. 4 

There was a shortage of 25 kg. on Jan. 15 .  

Prepare Stores Ledger for these transactions under LIFO and FIFO methods. 

GB &s° 2 30rd, Bes2 son7son addsug 20e0 d@ab, 
et ? '' e c 

20 2019 0 d32ov3 a» 6ri sb03ch3cd. 

«o - 1  e0& &us6300 3. 33 6e:.rf25 de. 

so- 3  a20e0500e. z3 .r26 d. 

25'o-4 2e@220 • 

2 - 1 0  2e@6 440 a:. 

ask'o- 20 20e0 490 6:. 3d3 6:.r23 de. 

'o -2 5  2e#300 6:. 

2:' - 27 e02020 .0bb, es-4 2e@ca &030bod. 
el 

05208 15- 20bob 25 6:. @01/ad. 

€ dee0r ad&3020, FIFO ab3 LIFO a3,9 ob ,30r's? a5c&¢, 3a02. 

9. From the following, prepare a Reconciliation Statement, calculate profits as 

per Financial Accounts. 

a) Net profit as per Costing records 1,72,400 

b) Works overhead under recovered in costing 3,120 

c) Office overheads recovered in excess 1 ,700 

d) Depreciation charges in financial records 1 1 ,000 
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e) Interest received but not included in costing 8,000 

f) Income tax provided in financial books 40,300 

g) Bank interest credited in financial books 750 

h) Store adjustment credited in financial books 475 

) Depreciation of stock charged in financial books 6,750 

j) Depreciation recovered in costing 12,300 

6sn8 2rlo' a0002rd 3,dd2, 3o10», &»2sb €,52'' ad,2 c2ekd2, 
Bo&@c0. 

3,120 

1,700 

40,300 

11 ,000 

8,000 

1,72,400 

e) 23,FF 0223}, , d e  5&030cd' a@ 
2 e d co 

f) a3coos adz' ens'vnd e0ob or' 
D ( 

g) ares»rs a#de, cad,i, 3rib80@0d5 252,08' .a, 750 

h) ol dz ad@x 02,b a00s 2ad ad@db 475 
. .0 ( D 

i) Us2»b ad#' a00305 0»2b de3 3 6,750 
..0 co ..D 

j) si3,2rr 0223'g &oc, 50d 12,300 
2± e co d  

a) ad3,2rF 022#%,&,0o 20d 
d e d 

b) 2de3,2&rob2#,&, 23e 3»F de3237b 
2 e± d o c e 

8@ a»b ad0cod 

c) ea3 a+ ar' 523b e0on vs dcdxcd» 
2 eR 

d) ab2#b 23' a0'2/d' a 
D 

10 .  A  Factory has three Production Departments and two Service Departments. The 
overhead distribution summary shows the following : 

Departments Amount () 

A 6,300 

B 7,400 

C 2,800 

X 4,500 
y 2,000 
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The Service Departmental expenses of X and Y are to be distributed on a 
percentage basis as follows : 

Particulars Production Departments Service Departments 

Service Departments A B C X V 

X 40% 30% 20% 10% - 

V 30% 30% 20% 20% - 

Prepare a secondary overhead distribution summary under: 

a) Repeated Distribution Method 

b) Simultaneous Equation Method. 

2od b32F 30b 5bd eu32d3 ac33rs? rl a #a2 a&.33r3, de23 
c) o ± 

223so 320208 & nso30d: 

co3 (a.) 

A 6,300 

B 7,400 

C 2,800 

X 4,500 

y 2,000 

25 eU32d2 co33rs &ae ca3rtsb 
ch 

ea ca5r's A B C X V 
X 

40% 30% 20% 10% - 

V 30% 30% 20% 20% - 

0,3cab be,23, 3so e30b& & so 2par 310. 
c 2 ed o 

a) bd as ad3 
Q 

b) 3le ad3. 
0 

BMSCW LIBRARY

BMSCW LIBRARY 



SE - 248 -8­ 11111111111111111 IIIII IIIII IIII IIII 

1 1 .  From the following, you are required to calculate the earnings of a worker for a 
week under :  

a) Straight piece rate system 

b) Taylor's differential piece rate system 

c) Halsey Premium Plan. 

d) Rowan Premium Plan 

Weekly working hours 48 

Hourly wage rate (@) 30 

Piece rate per unit () 1 2  

Normal time allowed per piece12 minutes 

Normal output per week 240 pieces 

Actual output for the week 300 pieces 

Differential piece rate 80% of piece rate, when output is below normal and 
120% of piece rate when output above normal. 

& ' and 93mU3' a2a &ebb sob&@c0. 
- e 

a) de o a ad3ab0 
Q 

b) &Wee0g 2¢ o a ad30o5 
) 

c) a€,3e50510'c% ad3 

d) des eeao0 ae&ob 

2.od 2ad 6s 7lo&r 48 

rte3r'8e 0() 30 

ad,3 bog° 0d 0() 1 2  

ad,3 so@r' eds' 5ad&d 5lb0 1 2  ad  

3d,3 a2cdi, 5add, eu32g3 240 sorts? 

2ea5c &u32g'3 act, 300 rs? 

2, box 0 5e. 80 0c o a be& o&@0b250d2, €u22pd3ob 
5add eu32gnc @ aa, e. 120 0 3 U be o&@bad, 

2 c O 

eu32,302 52d&d cu2g3nos a20 
c 2 c O 0  
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